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(b) Differentiate with respect to x.

(iif) cosdx
AMP 2002 O4

T
{c}) Ewaluate Esin?u: .
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() Inthe triangle ASC, b=3cm and c=6 cm.

¢ Diagram not to scale

A Geom B

The aven of the teiangle is 7.5 5q, ¢m.

(i) Find the size of the obluse angle 84,

(i) Find the length of CH eorrect to two decimal places.
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2
() If y=Aoosdx+Bsindx, show that %ﬁiﬂﬁy:(}‘
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CSSA 2001 Q1

. 1 .
(dy TFind the value of cag-éu correst to 3 decimal places,

(¢} Solve tanf = -—i— for 0" <0 £ 360",

43
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CSSA 2001 Q3

{a) Find:

(i) !ﬁﬁ{:g 4yely I

{d Differentiate the following

(i} x'sinx yA
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(a) (i) Show that x= Y is a solution of cosx = cos2x. I
|
(i}  On the same set of axes, sketeh the graphs of y=cosx and 2
y=cos2x for 05 x5 2, showing the x coordinae of all points
of intergection. :
{iii}  Find the exact area of the region bounded by the curves y =cosx 3

. ‘ 2,
and y=cos2x over the interval 0< ¢ 5 —g
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()  Differentiate the following expressions with respect to x:

(i1) 3x cos 2x

(b)  Evaluate the following definite integrals:
a4
1 fsin Ixdx
0
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. X
¢ () On the same number plane, sketch the curves y ='sinx andy =tan3 in 3

the domain 0 £ x < 2.

. . . . L X
(ii)  Hence find the number of real solutions to the equation sin.x = tan 5 for

O£x<2m,
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SOLUTIONS

AMP 2002 Q3

2

G d (ppsSx}=g§(e5m3x)q.3mc¢s;3xely y
dey, x x

~3xsin3x-coslix v

xﬁ

AMP 2002 Q4

AMP 2002 Q6

M 7.5=3£xsx5xsinav’

OS5=gind
150° =@ (@ is obtuse) v’

(OB =5 4 6% ~2xSx8xcosl50®
CB* =112,.9615
CB=1063cm v
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{d) y=dcogdx+ Bsindx
% = ddsindx -+ 4B cosdy v

3
d__r =—16dcos4x—168sindx v
dx
d'y P )
@md 3 dcosdx + Brindx)
dy .,
d® 16y
CSSA 2001 Q1
2 = 0.9238795...
(d) cos 8
= 0,924 correct to3 d.pl.
g = 180" — 30 or 360" - 30
© -
=1 HY or330
CSSA 2001 Q3

(a} {i} jsec"’ dxdy = 1 tan efv =~l* tandx-te
gl 4
(@ @  xcosx+3x'sinx

CSSA 2001 Q7

@ @G  cos %h_
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(i)

(0.1
9 ¥ = onsdy

¥ = o8y

"“3' .
J{ms x=c08 2x)dx .
a

{iify  Area

. ) 2
=isiny—-—sin2xy},
i 2 .

Esing—isiniﬁu{ﬂ—ﬁ)
L2 3

“ﬂﬁ 1 A3

11
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d
(if) 5 (3x cos 24)

=3xx -2 sin2x+ 3 cos 2x
=3 cos 2x — 6x sin 2x

. i
(1) fsin 3xdy =| -3 cos3x
0

CSSA 2000 O8

A

(c)
Q) 1

-1

X
(i) sinx=tan’>
has 4 solutions in

the domain
0sx<2m




